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Nyestion 1

ot yet answered
Marked out of 1.00

dmEgdymoo A={3,0,1,-2,5},B={-2,5,7,9} o C ={-5, 1, 3, -3} bod®mogmgg0d0, 03m3zgm (A \ B) r] C bodeogmy.

Select one:
O a. {5,3}
O b. {3}
O c. {1,3}
O d. {5, 1}

Question 2

Not yet answered
Marked out of 1.00

03M390 f (:L‘) =T 3 Ox 2 4+ O — 1 39693006 gro@gbo 8603369 mdo[0;2] byadabady.

Answer:

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=32079&cmid=1918 1/9


https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Ccap
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3Dx%5E3-6x%5E2%2B9x-1
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Question 3

Not yet answered
Marked out of 1.00

3oam 1 yn?—3+6n
530 ﬂ,ll%m@o 5—9R

Select one:

Oa 7

]

O b.

O
o
WO~ T

O
Q
DT
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Clim_%7Bn%5Cto%5Cinfty%7D%5Cfrac%7B%5Csqrt%7Bn%5E2-3%7D%2B6n%7D%7B5-9n%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B7%7D%7B9%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=-%5Cfrac%7B5%7D%7B6%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=-%5Cfrac%7B7%7D%7B9%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B5%7D%7B6%7D
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Question 4

Not yet answered
Marked out of 1.00

. 3x2492x-5
s i 7520

Select one:

O a. 3

2

O b. &

3

O¢c 5

Od 6
Question 5

Not yet answered
Marked out of 1.00

2—x
306LodM3Mgm f (;}[;') = m QY6Jsoo 1 — 2 BaemHoemdo obg, O™ 0go gobgl
169390 038 6y Homdo.

Answer:

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=32079&cmid=1918 3/9


https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Clim_%7Bx%20%5Cto%201%7D%5Cfrac%7B3x%5E2%2B2x-5%7D%7B2x%5E2-x-1%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B3%7D%7B2%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B8%7D%7B3%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3D%5Cfrac%7B2-x%7D%7B%5Csqrt%20%7Bx%2B7%7D-3%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=x%3D2
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Question 6

Not yet answered
Marked out of 1.00

03(*)330)']"!(]_))0)3']‘3(3;) — ﬁ‘{l‘fz—fﬁlﬂ?—l—g

Answer:

Question 7

Not yet answered
Marked out of 1.00

03m390 1) = — % T 3 -4 % T 2 -4 21— 5 anbdsoob 8e0opmdol 3gomgpol bog®dg.

Answer:

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=32079&cmid=1918 4/9


https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%27%281%29%2C
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%20f%28x%29%3D%5Cfrac%7B1%7D%7Bln4%7D4%5E%7Bx%5E2-4x%2B3%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=y%3D-%5Cfrac%7B1%7D%7B3%7Dx%5E3%2B%5Cfrac%7B1%7D%7B2%7Dx%5E2%2B2x-5
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Question 8

Not yet answered
Marked out of 1.00

03M39M f;(gjl),mnf(ar;?y) — (2y3+345!y4_1)e$2+3$—10

Select one:
O a. 12
Ob. 6
Oec 8
O d. 14

Question 9

Not yet answered
Marked out of 1.00

03M390 f (ﬂfj y) = y— 2 -+ 5 Yy 2 -+ 9 Yy 3 -+ 3 0969d300L cmmIommy&o dogdLodydo

Select one:
O a. 10
Ob. 9
Oc 12
Od 1

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=32079&cmid=1918 5/9


https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%27_x%282%2C1%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%2Cy%29%3D%282y%5E3%2B3%5Csqrt%5B5%5D%7By%5E4-1%7D%29e%5E%7Bx%5E2%2B3x-10%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%2Cy%29%3D2xy-x%5E2%2B5y%5E2%2B2y%5E3%2B3
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Question 10

Not yet answered
Marked out of 1.00

03M39mM f (;;[}) =T 3 —|— T 2 2 T — 3 RY6d300L gMoa030L A(1;-3) Bahoemdo g3ogmadymo dbgdol ox wgmdmob
300339m0L BgMHoemol ddLEoL

Answer:

Question 11

Not yet answered
Marked out of 1.00

oamggmff(]_)mz] f(iL’) — e$2—4$+3

Answer:

Question 12

Not yet answered
Marked out of 1.00

mm30¢homob Bgbom godmmgomgm dmgomo: Iim M_
r—pl—cosz

Answer:

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=32079&cmid=1918 6/9


https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3Dx%5E3%2Bx%5E2-2x-3
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%27%281%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3De%5E%7Bx%5E2-4x%2B3%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%20%5Clim_%7Bx%5Cto%200%7D%20%5Cfrac%7Be%5Ex-x-1%7D%7B1-cosx%7D
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Question 13

Not yet answered
Marked out of 1.00

3080mgm f(x)=-x3+3x+2 3030mB93M0 HhgommMOl GMEOIYmom (x+1)-b bocolbgdoo

Select one:

Question 14

Not yet answered
Marked out of 1.00

. ebr _1
03030 égngln(l—l—lr)

Answer:

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=32079&cmid=1918

7/9


https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3D3%28x%2B1%29%5E2-%28x%2B1%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3D%28x%2B1%29%5E2%2B%28x%2B1%29%5E3
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3D3%28x%2B1%29%5E2-%28x%2B1%29%5E3
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3D6%28x%2B1%29%5E2-3%28x%2B1%29%5E3
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Clim_%7Bx%20%5Cto%200%7D%20%5Cfrac%7Be%5E%7B6x%7D-1%7D%7Bln%281%2B2x%29%7D
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Question 15

Not yet answered
Marked out of 1.00

2-3%+5a, <0
6a(14+2x)%+3, £>0

a-b ®o 360d3b9MmMoO0Lm3goL ngbgoo y —

Hmmo
Answer:

Question 16

Not yet answered
Marked out of 1.00

03M39mM f (;}[}) = 2 S 1 T 2 I anbgdiool 383o®melo EoEYdOmMO 39H0MOO

Select one:
O a. 3 i
Ob T

2
Oc T
O d. 2 T
«

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=32079&cmid=1918

Y6900l bobghmdo x=0 BgmHogmdo 20-0b

»

8/9


https://testing.gtu.ge/filter/tex/displaytex.php?texexp=y%20%3D%20%5Cbegin%7Bcases%7D%202%20%5Ccdot%203%5Ex%2B5a%2C%20%26%20x%5Cle%200%5C%5C%206a%281%2B2x%29%5E2%2B3%20%2C%20%26%20x%3E0%20%5Cend%7Bcases%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3D2sin2x
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%5Cpi
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B%5Cpi%7D%7B2%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cpi
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=2%5Cpi
https://testing.gtu.ge/mod/quiz/view.php?id=1697&forceview=1
https://testing.gtu.ge/mod/quiz/view.php?id=1698&forceview=1
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